Review for Trig Quick Quiz #1 Name: /L\WMJ\. \Q‘
(The quick quiz will be next class and worth approximately 20 points)

find an angle 6 (where 0° < 0 <360°) that is co-terminal with:
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3 In a unit circle, if the terminal side of angle & in standard position goes through the point
[—%, %] find the following. (Note: The hypotenuse = 1)
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6 If cscd = — and cos@ <0, find cotd.
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Find the exact value of each expression below. Show your work where appropriate.
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Solve for 0 such that 0° <8 <360°. If you get a @ that is not a whole degree, round answers to nearest
minute.
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Solve for @ such that 0° <68 <360°. If you get a @ that is not a whole degree, round answers to nearest
degree.
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Rewrite the following trig equations in simplest form so that you could solve them. DO NOT SOLVE
these (but you should know how to).
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